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AND REGISTRY OF ‘SHIPPING

HeADp OrFicE—14 Blythswood Square, Gtlasgow
Telegraphic Address— Seaworthy

Rberdeen Brrrisa CoRPORATION,

Barrow *Joun E. HamiuTON,

Belfast Brrrisa CoRPORATION,
(with Londonderry) |

Bristol *J. MOORE WARD,

Brixham *A. Love,

Cardiff BrrTisE CoRPORATION,
(with Barry and Newport)

Cork *H. G. Mognis,

Dartmouth *JouN R. PAmsoxs,

Dublin *D. R. ANTHONEY,

Dundee BrrTisH CORPORATION,
(with Montrose) |

Falmouth *A. W. Caanp,

Hul! BRITisSE CORPORATION,

(with Leeds and Sheffield)

84 Market St.
9 Furness Park Road
106 Ann St.

J Queen’s Sq.
4 Fore St.

30 Merchants’ Ex-
change

City of Cork Steam
PacketCo., Penrose

Quay

c/o E. M. Turnor &
Son

71 Rathgar Road,
Rathgar
65 Trades Lane

Commercial
Chambers

L. & Y. Railway
Bldg., Victoria Sq.

- e — .,



1 2
¥,
i Liverpool BririsH CorporATION A 13 Exchange Bldg.
f. (with Manchester) m &= B’
'}i: London Brrrise CorroraTioN, 6 Billiter St., EC. 3 | THE BRITISH CORPORRTION FOR THE SURVEY AND
it (with Southampton and Birmingham) ' REGISTRY OF SHIPPING
it | Londonderry (see Belfast) " Head Office .
"!1 Middlesbrough BRiTIsH CoRrroraTION, Cleveland Bldg. | e —14 Flace Royale, Montreal
u | (with Stockton and Whithy) Telegraphic Address—* Seaworthy,” Montreal
il Bririse CorporaTioy, Mosley Chambe '
§ 5 | H mtle ! y rB)
i T Tone Pocts and Amble) % Mosley St. Halifax, N. 8.  *NEm Hauwr, Port Warden
o . * ’
Newport, Mon. “LEWIS W. JENKINS,  Central Chambers Lt 8y W00 Mlagn |
e prinn | Montreal *W. F. FLETCHER 408 Mance St.
Plymouth *R. H. WILLIAMS, 66 Peverill Park 3 e i tad Lower 3. Lawreacs
Road, Parrsboro, N. 8. *HARVEY M’AroNEY
Sounthis ptbﬂ *3_ S. WELCH, 18 Cﬂnute Rmd’ Quebec *A-LEX RUSQELL, 59 D'A.rtigny
TR . (see also Montreal)
Sunderland  BRITIsH CoRrPORATION,  Maritime Bldg., g St John, *Gro. H. WaRiNg, 208 Duke St.
% (with West Hartlepool) St. Thomas St. | New Brunswick
| i *Trevor E. Wiriiams, 17 St. Mary St. | St. Johu's, *A. R. LEDINGHAN, Marine & Fisheries
* Nou-Exclasive Surveyors - Newfoundland Deph, Custom
_ House
¥  Shelbourne, N.S. *RoBE M’Lrop, Liverpool, N.S.
L 23 : | Sydney, NS. *JoEN L. G. Cogre, 697 (George St.
Toronto BrrTiss COoRPORATION, 64 King St., East

lwithlqngﬂon,Midhnd,Colﬁngwood,PodArthm,andCﬂmdimPW}

Vancouver, B. C. BRriTisu CorPoRATION, 837 Hastings St.,
«with Prince Rupest), West

Victoria, B. C.  *W. C. WiNTERBURN, 221 Central Bdg.
. 'Non-MIMivo Survey.rs




T Bt

Va.

* 2 Norfolk, Va.

il AMERIOAN BURRAU,
’ii AMERICAN BURERU OF SHIPPING

Brokers Exchanze

Bldg.
i Head Office—50 Broad St. New York Philadelphia, Pa. AMERICAN BUREA, 330 Bourse Bldg.
Hr-' Tolegraphio Address—« Record, New York * Pittsburgh, Pa. AMERICAN Bureau, = 504 Highland Bldg.
' 0 oklin Blg Portland, Maine EpmMUuyp R. Nontoy

| Baltimore, Md. AMERICAN BUREAU, 4/ Frankln & Potland, Ore. = AMERICAN Bungav, 509 Board of Trade
{ Bimingham, Ala. (SEE NEwW ORLEANS) B}dg-

Boston, Mass. AMERICAN BUEEAU, 126 State St. Rockland, Me. J. J. WinRDwWELL

Buffalo, N. Y. AMERICAN BUREAU, Prudential Bldg. San Diego H. T. MERIWETHER, 2445 Albatross 8t.

Charleston, S. C. (SEE SAVANNAH)
Chicago, 1II, AMERICAN BUREAU,

Cleveland, Ohio AMERICAN BUREAU,

Detroit, Mich. AMERICAN BURFAU,
Duluth, Minn. LoUIs DAHLGREN,
Eureka, Cal. A. C. TiBBETTS

Galveston, Tex. AMERICAN BUREAU,

Houston, Tex. (SEE GALVESTON)

Jacksonville, Fla, (SEE SAVANNAH)
Milwaukee, Wisc. AMERICAN BUREAD,

Mobile, Ala. C. A. CHRISTIANSEN,
New Orleans, La. AMERICAN BUREAU,

Newport News, A MERICAN BureAv,

6908 Harper Avenue
Union Trust Bldg.
Majestic Bldg.

300 Builders Ex-
change Bldg.

707 American
National Bldg.

524 First National
Bank Bldg.

807 Van Antwerp
Bldg.

915 Maison Blanche
Bldg.

201 C. & O. Bldg.

San Francisco, AMERICAN BUREAU,
Cal

San Pedro, Cal, AMERICAN BUREAD,
Savannah, Ga. AMERICAN BUREAU,

Seattle, Wash. AMERICAN BUREAD,
Tampa, Fla. E. D. WARREN,
Wilmington, N.C. H. M. ATKINSON,

1220 Matson Bldg.

210 First National
Bank Bldg.

Savannah Bank and
Trast Bldg.

311 Securities Bldg.
Giddens Bldg.
315 North Third St.
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REGISTRO ITRLIANO

Head Technical Offiee—Via Petrarca 2, Genoa
Telegraphic Address—* Registro Navale, Genoa *

Ancona
Bari

Barletta
Brindisi

Cagliari

Carloforte
(Sardegna)
Catania

Civitavecchia

Fiume
Leghorn
Messina
Milan
Molfetta

Naples

Palermo

ENRICO MENGONT,
cfo Pietro Manara
¢/o Ruggero Delli Santi,

Corso Mazzini, 49

S. Giorgio 6

¢fo TEopoR0 D’IPPOLITO FU

EuaEnIO
c/o PETRO BUFFA
c/o GruserPE RivaNo Fu

ANTONIO

c/o RAIMONDO SALVATORE
NAPOLI,

c/o A. P. BELLETTIERI

A1BERTO DELLA RAGIONE, Riva Cristoforo

Colombo 8

c/o SsLoMONE OrericE, Piazza Vittoria

/o Gruserpr Bozzo,

AUGUSTO (XANDINI,
¢/o FraNcesco MopuGNo
REGisTro ITALiavo,

RegisTro ITALIANO,
Porte Empedocle ¢/0 VINCENZO Buncio

Emanuele

Via 1 Settembre,
73 p.P.

Via Manzoni 41

Via Agostino
Depretis 137

Via Roma 167

Rome

(Head Office)

Rovigno

Savona
Siracusa

Spezia
Taranto

Terni
Trapani
Trieste
Turin

Venice

c/o GIUSEPPE BAzzixi
KEUGENIO ABA DI (FASPARE

REGISTRO ITALIANO, Via delle Convertite,
N. 5

¢/o GI)VANNI ZULIANI
ENrrco MoscATI
¢/o GIurio VIvALpr, Via Genova 11

¢/o B. Riscrca yu Via Cordova 20
(GAETANO,

CAv. GAETANO VERNA, Piazza Vitt. Em. 6

Yirrorio Moo, Via Margherita 25

Curzio Comr

AGoSTINO BuncArerrs, Via S. Agostino 10

REGISTRO ITALIANO, Piazza della Borso 7
G1ovANNI BOELLA, i
RrGIsTRO ITALIANO, Palazzo I{evi Calle

v
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=] - = o
—_ - — ——— i ——
el
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Rt 75 B
Fad i B RWiTRAR - v
Rlgiers LeoroLp CArvAr, 2 Boulevard Carnot
Amsterdam  C. I. DwkHUIS, Nassaukade, 371
RAntwerp TrOoMAS R. Ions, 15, Quay Jordaens
{R. H. EMMERSON
Ruckland F. W. BLAKEY, 21 Richards-Upton
Bldg., Customs St.,
East
Balboa, Canal (E0. A. Browxe, P. O. Box 321
Zone
Batavia E. J. SCHELTENS, c¢/o Bataviaasch
Prauwenveer
Bombay RoBERT CARRUTHERs, 16 Bank St
Brisbane R. DovGras TAyLor Circular Quay
Buenos Ayres ESPLEN, SwAlNnsTON & 25 De Mayo 182
| Wisoy,
Calcutta H. R. Srazk, Graham’s Bldg., 9
Clive St,
(VAcANT)
W. Gowan, 16 St. George’s St.
A. C. CAMPBELL, Victoria Arcade,
York St.
(VACANT)
DAviDsoN RIEKIE, 51 Cato St.
H. E. JonNs, Steinhoft 11
C. W. Burson, Dubail Bldg., Rue

Hongkong RoBErT HUNTER,
Honolulu Wmrianm MoKay,
Karachi J. G. Smrs,
Manila {PAUL (¢. ERICKSEN,
J. I. HARRIS
Marseilles {G. PAsQuIER,
(. FraGger,
Melbourne A. C. MEEk,
Monte Video  ESPLEN, SWAINSTON &
WiLson,
Port Said HuGH ARMSTRONG,
Rangoon JOHN MCINTYRE,

Rio-de-Janeiro V. P. O'BRriEN,

Rotterdam {I. H. DURHUIS,

SAVENYE
Saigon (VACANT)
Shanghai Carr. W. 1. ESLER,
Singapore F. G. RITCHIE,
Sourabaya G. S. RAEKER,
Sydney Vine HALL, SPINES &

MARR,

9

Dubail, French
Concession

Prince’s Bldg.

P. 0. Box 3225

Native Jetty
P.O. Box 2103

Rue de la
Republique 26

Dominion Chambers,
09 William St.

Ituzaingo, 1467

P. 0. Box 121,
clo Wills & co.

c/o Bulloch Bros. &
Co., Lower Poo-
zoondaung

110 Avenida Rio

Branco
Heemraadsingel, 288

P. O. Box 716

21 and 23 'The
Arcade

Marine Establish-
ment

24 Bond St.




Tampico, Mexico W. A. JACOBSON,

Valparaiso, Chili WM. WALLACE,
Wellington, N.Z. WiLLiAM BENCE,

988 Lucey Bldg.,
Calle Rivera 44

Casilla No. 148

4 Wood’s Bldg,,
Waterloo Quay
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